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FOREST APPRENTICE (GROUP- VI SERVICES) IN TAMIL NADU FOREST 
SUBORDINATE SERVICE – 3/12/2022 to 27/12/2022 

 
1. Learning multiplication tables and English alphabets is an example of 

a. Concept learning  b. Rote learning  c. Inductive learning 
d. Heuristic learning e. Answer not known 
ngUf;fy; tha;g;ghL kw;Wk; Mq;fpy vOj;Jf;fs; fw;wYf;F cjhuzkhf miktJ 
a. fUj;J fw;wy;  b. nghUs; czuhky; fw;wy; c. tpjptU fw;wy; 
d. fz;lwp fw;wy;  e. tpil njupatpy;iy 
 

2. Metals – with high atomic numbers are used as targets for the production of X-rays. 
Why? 
a. They will not be broken during the process 
b. They will remain cooled even by continuous electron bombardment 
c. They will give more energetic and intense X-rays 
d. They will not melt by the increase in temperature 
e. Answer not known 
X-fjpu;fs; cUthf;fj;jpy;> cau; mZ vz; nfhz;l cNyhfq;fs; ,yf;F nghUshfg; 
gad;gLj;jg;gLfpd;wd. Vd;? 
a. nray;Kiwapd; NghJ cilahky; ,Uf;f 
b. njhlh;e;j vyf;l;uhd; jhf;FjypYk; Fspu;e;J ,Uf;f 
c. mjpf Mw;wy; tha;e;j> nrwpT kpf;f X-fjpu;fis cUthf;f 
d. ntg;gepiy mjpfupg;ghy; cUfhky; ,Uf;f 
e. tpil njupatpy;iy 
 

3. Which one of the following process is not cognitive? 
a. Recognition  b. Rote memory  c. Selective Recall 
d. Analysis   e. Answer not known 
gpd;tUtdw;Ws; vJ mwpTrhh; nray;Kiw my;y? 
a. fz;Lzh;jy;    b. nghUSzuh kdg;ghlk;   
c. njupe;njLf;fpw epidT $h;jy;  d. gFg;G 
e. tpil njupatpy;iy  
 

4. Which of the following do not affect radioactivity? 
I. Temperature 
II. Pressure 
III. Volume 
a. I and II   b. I and III   c. II and III 
d. I, II and III   e. Answer not known 
fPo;f;fz;ltw;Ws; vit fjpupaf;fj; jd;ikia ghjpg;gjpy;iy? 
I. ntg;gepiy 
II. mOj;jk; 
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III. fd msT 
a. I kw;Wk; II   b. I kw;Wk; III  c. II kw;Wk; III 
d. I> II kw;Wk; III  e. tpil njupatpy;iy 
 

5. The area of Pallikaranai Marshland Ecological Park is 
a. 3.5 Acre   b. 2.5 Acre   c. 4.5 Acre 
d. 5.0 Acre   e. Answer not known 
gs;spf;fuiz rJg;G epyj;jpYs;s Rw;Wr;#oy; G+q;fhtpd; gug;G msT 
a. 3.5 Vf;fu;   b. 2.5 Vf;fu;   c. 4.5 Vf;fu; 
d. 5 Vf;fu;   e. tpil njupatpy;iy 
 

6. The first Indian American to become the Miss World America in 2021 was 
a. Sri Nandhika  b. Shree Saini  c. Dhivya John 
d. Victoria   e. Answer not known 
cyf kp]; mnkhpf;fh vd;W 2021-k; Mz;L Kb#l;lg;gl;l Kjy; ,e;jpa mnkhpf;fh; 
a. = ee;jpfh   b. = irzp   c. jpt;ah [hd; 
d. tpf;Nlhhpah  e. tpil njupatpy;iy 
 

7. Which of the following is not matched correctly about NITI Aayog? 
a. NITI Aayog Head Office: Delhi   
b. NITI Aayog Chairman: Prime Minister 
c. parent Agency: Government of India    
d.  NITI Aayog Replaced: National Development Council 
e. Answer not known 
NITI MNahf;fpy; gpd;tUtdtw;wpy; vJ rupahfg; nghUe;jtpy;iy? 
a. NITI MNahf; jiyik mYtyfk; : nly;yp 
b. NITI Mahf;fpd; jiytu ;: gpujkh; 
c. NITI Mahfj; jha; epWtdk; : ,e;jpa muR 
d. NITI Mahf; khw;wg;gl;lJ : Njrpa tsu;r;rp fTd;rpy 
e. tpil njupatpy;iy 
 

8. Which one of the following reasons is the main cause for population explosion? 
a. Improved Medical Services  b. Lack of Medical Services 
c. High fertility rate   d. None of the above 
e. Answer not known 
kf;fs; njhif ntbg;G ngUk;ghYk; gpd;tUtdtw;wpy; xU fhuzkhFk;. 
a. Nkk;gl;l kUj;Jt Nritfs;  c. kUj;Jt Nritfspd; gw;whf;Fiw 
c. mjpf fUTWjy; tPjk;   d. Nkw;$wpa ,tw;wpy; vJTkpy;iy 
e. tpil njupatpy;iy 
 

9. Which of the following rivers is also known as ‘Saline River? 
a. Sabarmathi  b. Mahi  c. Luni 
d. Chambal   e. Answer not known 
gpd;tUk; ejpfspy; cg;G ejp vdTk; khw;whf mwpag;gLtJ vJ? 
a. rgh;kjp   b. kfp   c. Y}dp 
d. rhk;gy;   e. tpil njupatpy;iy 
 

10. The highest temperature in India during the winter season occurs at  
a. Chennai   b. Hyderabad  c. Banglore 
d. Thiruvananthapuram e. Answer not known 
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,e;jpahtpy; Fspu;fhyj;jpy; ntg;gepiy mjpf mstpy; fhzg;gLk; ,lk; 
a. nfd;id   b. i`juhghj;  c. ngq;fSh; 
d. jpUtde;jGuk;  e. tpil njupatpy;iy 

 
11. In 1657 Aurangazeb defeated Dera Shikoh at the battle of  

a. Dharmat   b. Sarhind   c. Udaipur 
d. Jodhpur   e. Answer not known 
1697-y; xsuq;frPg; jhuh~Pf;Nfhit Njhw;fbj;j Nghh;f;fsk; 
a. jhh;kl;   b. rh;`pe;j;   c. cja;G+h; 
d. N[hj;G+h;   e. tpil njupatpy;iy 

 
12. A treatise on South Indian Paintings 

a. Dakshinachitra  b. Mattavilasaprahasam  c. Nandikkalambagam 
d. Bharathavenba  e. Answer not known 
njd;dpe;jpa Xtpaq;fs; gw;wp fl;Liu 
a. jl;rpzhrpj;uh  b. kj;jtpyhrgpufrdk;  c. ee;jpf;fyk;gfk; 
d. gujntz;gh  e. tpil njupatpy;iy 
 

13. Harisena was the court poet of  
a. Samudra Gupta  b. Skanda Gupta  c. Chandra Gupta II 
d. Kumara Gupta  e. Answer not known 
`hpNrdh; ,tuJ mitg; Gytu; 
a. rKj;jpu Fg;ju;  b. ];fe;j Fg;jh;  c. ,uz;lhk; re;jpu Fg;ju; 
d. Fkhu Fg;ju;  e. tpil njupatpy;iy 
 

14. Who was Qazi – I – Mumali during rule of Delhi Sultanate? 
a. Account General  b. Chief Justice  c. Deputy Minister 
d. Chief Minister  e. Answer not known 
nly;yp Ry;jhd;fs; Ml;rpapd; NghJ fhrp-,-Kkhypf; vd;gtu; ahh;? 
a. nghJf; fzf;fh;  b. jiyik ePjpgjp  c. ,iz mikr;rh; 
d. Kjyikr;rh;  e. tpil njupatpy;iy 
 

15. Which article of the Constitution Provides Uniform Civil Code for the citizens? 
a. Article 42   b. Article 43   c. Article 44 
d. Article 45   e. Answer not known 
Fbkf;fSf;F nghJ rptpy; rl;lj;ijg; gw;wpf; $Wk; murpayikg;G tpjp vJ? 
a. tpjp 42   b. tpjp 43   c. tpjp 44 
d. tpjp 45   e. tpil njupatpy;iy 
   

16. Consider the following statement: 
Assertion (A): The adoption of Uniform Civil Code though mentioned in the 
   Constitution of India’ is yet to be accomplished. 
Reason (R):  Directive principles are Non - Justiciable. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. Both (A) and (R) are true, but (R) is not the correct explanation of (A) 
c. (A) is true, but (R) is false 
d. (A) is false, but (R) is true 
e. Answer not known 
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fPo;f;fz;l $w;Wfis Muha;f. 
$w;W ($)  : ,e;jpa murpayikg;gpd; nghJ rptpy; rl;lk; epiwNtw;wg;gl cs;sJ 
fhuzk; (fh): topfhl;L newpKiw Nfhl;ghlhdJ ePjpJiwf;F mg;ghw;gl;lJ 
a. ($) kw;Wk; (fh) ,uz;Lk; rup> kw;Wk; (fh)> ($) tpw;F rupahd tpsf;fk; 
b. ($) kw;Wk; (fh) ,uz;Lk; rup> kw;Wk; (fh)> ($) tpw;F rhpahd tpsf;fk; my;y 
c. ($) rupahdJ> Mdhy; (fh) jtW 
d. ($) jtW Mdhy; (fh) rupahd $w;W 
e. tpil njupatpy;iy  
 

17. The Chairperson of the Universal Declaration of Human Rights in 1947 is 
a. Karel Vasak  b. Allan Carlson  c. Eleanor Rossevelt 

d. Hansa Mehta  e. Answer not known 
cyfshtpa kdpj cupikfs; Mtz gpufldj;jpd; jiytuhf 1947-y; ,Ue;jth; 
a. fhuy; thrf;  b. Myd; fhh;y;rd;  c. vydh; &];nty;l; 
d. `hd;rh Nkj;jh  e. tpil njupatpy;iy  
 

18. Psephology is the study of 
a. International relations b. Local government c. Elections 

d. Social justice  e. Answer not known 
Nr/ghyh[p vd;gJ _________ gw;wpa Ma;thFk; 
a. ru;tNjr cwTfs; b. cs;@u; murhq;fk; c. Njh;jy; 
d. r%f ePjp   e. tpil njupatpy;iy 
 

19. According to Keynes, fiscal policy is intended for 
I. Stabilisation of Prices   
II. Stabilisation of rate of growth 
III. Stabilisation of employment 
a. I and III are correct  b. I only correct  c. I only correct 
d. II only correct   e. Answer not known 
fPapd;]pd; fUj;Jg;gb> epjpf; nfhs;if ,jid Nehf;fkhf nfhz;lJ 
I. tpiyfis epiyg;gLj;Jjy;  
II. tsh;r;rp tpfpjj;ij epiyg;gLj;Jjy; 
III. Ntiytha;g;ig epiyg;gLj;Jjy; 
a. I kw;Wk; II kl;Lk; rup  b. II kw;Wk; III rup  c. I kl;Lk; rup 
d. II kl;Lk; rup   e. tpil njupatpy;iy 
 

20. Federal Finance deals with 
a. State Finance  b. Finance of Railways   
c. Local Bodies  d. Centre and State Financial relations 
e. Answer not known 
$l;lhz;ik epjp vjDld; njhlh;GilaJ? 
a. khepy epjp epiy   b. ,uapy;Nt epjp epiy   
c. cs;shl;rp mikg;Gfs;  d. kj;jpa khepy epjp cwTfs; gw;wpaJ 
e. tpil njupatpy;iy 
 

21. Sindri is known for the production of  
a. Fertilisers   b. Milk   c. Oil seeds 
d. Power plants  e. Answer not known 
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rpe;jpup ___________ cw;gj;jpf;F ngau; ngw;wJ. 
a. cuq;fs;   b. ghy;   c. vz;nza; tpj;Jf;fs; 
d. kpd; Miyfs;  e. tpil njupatpy;iy 
 

22. Who among the following did not participate in the official events of Indian 
Independence Day 1947? 
a. Sardar Vallabhbhai Patel  b. Dr. Rajendra Prasad 
c. Mahatma Gandhi  d. Dr. B.R Ambedkar 
e. Answer not known 
gpd;tUgth;fspy; 1947 ,e;jpa Rje;jpu jpd mjpfhug; G+h;t epfo;Tfspy; gq;Nfw;fhjth; 
ahh;? 
a. rh;jhu; ty;ygha; gNly;  b. lhf;lh; uhN[e;jpu gpurhj; 
c. kfhj;kh fhe;jp   d. lhf;lh;. B.R. mk;Ngj;fhh; 
e. tpil njupatpy;iy 
 

23. The independent India adopted ______ as its National Motto when she declared herself 
a Sovereign Republic. 
a. Sarve Bhavantu Sukhina  b. Yato Dharmas – Tato Jayah 
c. Sathyameva Jayate  d. pratnakir Timapavrinu 
e. Answer not known 
Rje;jpu ,e;jpah jd;id Xh; ,iwikAs;s Fbaurhfg; gpuf;fldg;gLj;jpa nghOJ 
_________ vd;gij mjDila Njrpaj; jhuf ke;jpukhf Vw;Wf;nfhz;lJ. 
a. rh;t gte;J Rfpdh  b. aNjh jh;k]; jNjh n[a ;̀ 
c. rj;aNkt n[aNj   d. g;uhj;dhfph; jpkhgt;hpD 
e. tpil njupatpy;iy 
 

24. Which among the following statements is/are correct? 
1. The first Political Organisation of the Bombay Presidency was the Bombay 
Association 
2. The first Organisation in the Madras Presidency was Madras Mahajana Sabha 
3. Mary Carpenter established Poona Sarvajanik Sabha on the advice 
Choose the correct option form the following 
a. 1 only    b. 1 and 2 only  c. 2 and 3 only 
d. 1, 2 and 3 All the three  e. Answer not known 
gpd;tUk; mwpf;ifapy; vJ/vit rupahdJ? 
1. gk;gha; gpurpnld;rpapd; Kjy; murpay; epWtd mikg;G ghk;Ng mNrhrpNa~d;. 
2. nkl;uh]; gpurpnld;rpapd; Kjy; mikg;G nkl;uh]; kfh[d rgh 
3. Nkhp fhh;ngz;lh; ,uh[huhk; Nkhfd;uhapd; MNyhridapd;gb G+dh rh;t[dpf; rghit 

epWtpdhh; 
nfhLf;fg;gl;l tpUg;gq;fspypUe;J rupahd tpUg;gj;ij Nju;T nra;f: 
a. 1 kl;LNk    b. 1 kw;Wk; 2 kl;LNk c. 2 kw;Wk; 3 kl;LNk 
d. 1> 2 kw;Wk; 3 ,it %d;Wk; e. tpil njupatpy;iy 
 

25. The title of “Netaji” was given to Subash Chandra Bose by Indians who lived in the 
country 
a. France   b. Germany   c. Malaysis 
d. Singapore   e. Answer not known 
Rgh~; re;jpu Ngh];f;F Nejh[p vd;w gl;lk; ve;j ehl;L ,e;jpah;fshy; toq;fg;gl;lJ? 
a. gpuhd;];   b. n[h;kdp   c. kNyrpah 
d. rpq;fg;G+h;   e. tpil njupatpy;iy 
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26. The Novel ‘Nan Kanda Bharatham’ was written by 
a. Ambujathammal   b. Anjalaiammal  c. Krishnammal 
d. Rukmani Lakshmipathy  e. Answer not known 
“ehd; fz;l ghujk;” vDk; E}iy vOjpath; 
a. mk;G[j;jk;khs;  b. mQ;riyak;khs;  c. fpU~;zk;khs; 
d. Uf;kzp y~;kpgjp e. tpil njupatpy;iy 
 

27. Match the topographical divisions to their lands, called ‘Thinais’ in Sangam society. 
A. Kurinji   1. Coastal area 
B. Mullai   2. Agricultural area 
C. Marudham   3. Desert area 
D. Naithal   4. Hilly tracts 
E. Palai   5. Pastoral area 

A B C D E 
a.  1 2 3 4 5 
b. 2 3 4 5 1 
c. 3 5 4 1 2 
d. 4 5 2 1 3 
e. Answer not known 
rq;f fhy rKjhaj;jpy; $wg;gl;Ls;s ‘jpiz’ vDk; epyg;gug;Gg; gpupTfisr; rupahf 
,izg;gLj;Jf. 
A. FwpQ;rp   1. flNyhug; gFjp 
B. Ky;iy   2. tptrhag; gFjp 
C. kUjk;   3. ghiytdg; gFjp 
D. nea;jy;   4. kiyg; gFjpfs; 
E. ghiy   5. fhLk; fhL rhh;e;j Nka;ry; gFjp 

A B C D E 
a.  1 2 3 4 5 
b. 2 3 4 5 1 
c. 3 5 4 1 2 
d. 4 5 2 1 3 
e. tpil njupatpy;iy 
    

28. “You should not praise me. It is the teacher and the Scientists who are more important 
than a Politician” who said this? 
a. Kamaraj   b. Jawaharlal Nehru   c. C.N. Annadurai 

d. Jayaprakash Narayan e. Answer not known 
“ePq;fs; vd;id Gfof;$lhJ. xU murpay;thjpiaf; fhl;bYk;> MrpupaUk;> tpQ;QhdpANk 
Kf;fpakhdth;fs;” vd ahh; $wpaJ? 
a. fhkuh[h;   b. [t`h;yhy; NeU   c. C.N. mz;zhJiu 
d. n[agpufh~; ehuhaz; e. tpil njupatpy;iy 
 

29. Which one of the following is the policy of Anna in the Tamil Nadu politics? 
1. Establish the identity of Tamils 
2. State Autonomy 
3. Co-operative federalism 
4. Scientific Socialism 
a. 1 only   b. 1, 2 only   c. 1, 2, 3 only 
d. 1, 2, 3, 4 all  e. Answer not known 
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jkpof murpay; fPo;fz;litfspy; vJ mz;zhtpd; nfhs;ifahFk; 
1. jkpohpd; jdpj;jd;ikia epiyehl;Ljy; 
2. khepy Rahl;rp 
3. $l;LwT $l;lhl;rp 
4. tpQ;Qhd Nrh]payprk; 
a. 1 kl;Lk;   b. 1, 2 kl;Lk;  c. 1, 2, 3 kl;Lk; 
d. 1, 2, 3, 4 all midj;Jk; e. tpil njupatpy;iy 
 

30. “Naaluku Naal sakindromal  
Namakkunaam allathathy ennoh” 
Which epic brings out these above Philosopic lines? 
a. Nagakumara Kappium  b. Yasodara Kappium c. Kundalakesi  
d. Neelakesi    e. Answer not known 
“ehSf;Fehs; rhfpf;Nwhkhy; 
ekf;Fehk; mohjJ vd;Ndh>” 
vd;w jj;Jtj;ij ntspg;gLj;Jk; ghly; thpfs; ,lk; ngw;Ws;s fhg;gpak; vJ? 
a. ehfFkhu fhg;gpak;  b. aNrhju fhg;gpak;  c. Fz;lyNfrp 
d. ePyNfrp    e. tpil njupatpy;iy 
 

31. Name the book that is also called as “Nedunthogai” 
a. Nattrinai   b. Agananooru   c. Kurunthogai 
d. Aingurunooru  e. Answer not known 
“neLe;njhif” vd miof;fg;gLtJ vJ? 
a. ew;wpiz   b. mfehD}W   c. FWe;njhif 
d. Iq;FEW}W  e. tpil njupatpy;iy 
 

32. “Nallathu seithal aatreer aayinum 
Allathu seithal Oompumin” 
Who sang this song/ 
a. Kaniyan Poongundranar  b. Nariveroomthalaiyar c. Idaikundroor kilar 
d. Iraiyanar    e. Answer not known 
“ey;yJ nra;jy; Mw;wPu; MapDk; 
my;yJ nra;jy; Xk;Gkpd;” vd;W ghba Gyth; ahh;? 
a. fzpad; G+q;Fd;wdhh;  b. eupnt&cj;jiyahh; c. ,ilf;Fd;W}h;f; fpohh; 
d. ,iwadhh;    e. tpil njupatpy;iy 
 

33. The Magazine started in 1925, to have initiated the spread of self-respect movement 
ideology is  
a. Sudesa Mithiran   b. Viduthalai   c. Kudiarasu 

d. Murasoli    e. Answer not known 
1925-Mk; Mz;L Vw;gLj;jg;gl;l ve;j ,jo; Rakhpahij ,af;ff; fUj;Jf;fis 
gug;gpaJ? 
a. RNjr kpj;ud;  b. tpLjiy   c. FbauR 
d. Kunrhyp   e. tpil njupatpy;iy 
 

34. Which was the first state to establish third gender welfare board? 
a. Tamil Nadu  b. Karnataka   c. Kerala 
d. Maharashtra  e. Answer not known 
%d;whk; ghypd ey thhpaj;ij epWtpa Kjy; khepyk; vJ? 
a. jkpo;ehL   b. fh;ehlhf   c. Nfush 
d. kfhuh~;buh  e. tpil njupatpy;iy 
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35. Match the following places with its corresponding products; 

A. Ranipet  1. Poultry 
B. Salem  2. Turmeric 
C. Erode  3. Leather 
D. Namakkal 4. Steel 

A B C D 
a.  4 2 1 3 
b. 1 3 4 2 
c. 2 4 3 1 
d. 3 4 2 1 
e. Answer not known 
gpd;tUk; ,lq;fis mtw;NwhL njhlu;Gilatw;NwhL nghUj;Jf 
A. uhzpg;Ngl;il  1. Nfhopg;gz;iz 
B. Nryk;   2. kQ;rs; 
C. Nryk;   3. Njhy; 
D. ehkf;fy;   4. cUf;F ,Uk;G 

A B C D 
a.  4 2 1 3 
b. 1 3 4 2 
c. 2 4 3 1 
d. 3 4 2 1 

 e. tpil njupatpy;iy 
 
36. According to NITI Aayog report 2018 Tamil Nadu ranks third in  

a. Industrial Development Index   b. Health Index 
c. Poverty Index     d. Standard of living Index 
e. Answer not known 
epjp MNahf; 2018- mwpf;ifapd;gb jkpo;ehL gpd;tUk; vjpy; %d;whk; ,lj;jpy; cs;sJ? 
a. njhopw;Jiw tsu;r;rpf; FwpaPL  b. MNuhf;fpaf; FwpaPL 
c. tWikf; FwpaPL    d. tho;f;ifj; ju FwpaPL 
e. tpil njupatpy;iy 
 

37. The “Scared River of South India” is 
a. Thirumanimutharu  b. Vellaru   c. Cauvery 

d. Noyyal     e. Answer not known 
“njd;dpe;jpahtpd; Gdpjhkd ejp” 
a. jpUkzpKj;jhW  b. nts;shW   c. fhtpup 
d. neha;ay;   e. tpil njupatpy;iy 
 

38. If a principal of Rs. 100 is getting doubled in 4 years at S.I, then calculate the rate of 
interest. 
a. 28%   b. 25%   c. 17% 
d. 21%   e. Answer not known 
Rs. 100 mryhdJ 4 Mz;Lfspy; jdptl;b tPjj;jpy; ,uz;L klq;fhfpwJ vdpy; tl;b 
tPjj;ijf; fhz;f. 
a. 28%   b. 25%   c. 17% 
d. 21%   e. tpil njupatpy;iy 
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39. How many squares are there in a standard chess board? 
a. 118  b. 216   c. 204  d. 264  e. Answer not known 
rJuq;fg; gyifapy; nkhj;jk; vj;jid rJuq;fs; cs;sd? 
a. 118  b. 216   c. 204  d. 264   e. tpil njupatpy;iy 
 
 

40. If the word PHONE is coded as ‘SKRQH’, how will ‘RADIO’ be coded? 
a. SCGNH  b. VRGNG   c. UDGLR 
d. SDHKQ  e. Answer not known 
PHONE vd;w thh;j;ij ‘SKRQH’ vd Fwpf;fg;gl;lhy; ‘RADIO’ vd;w thh;j;ij vt;thW 
Fwpf;fg;gLk;? 
a. SCGNH  b. VRGNG   c. UDGLR 
d. SDHKQ   e. tpil njupatpy;iy 

 
41. A safety locker in a jewel shop required a 4 digit unique code. The code has the digits 

form 0 to 9. How many unique codes are possible? 
a. 10,000   b. 1,000   c. 100 
d. 10    e. Answer not known 
xU eiff;filapy; cs;s ghJfhg;G ngl;lfj;jpw;fhd jpwTf;Nfhy; vz; 4 
,yf;fq;fisf; nfhz;l jdpj;Jtkhd vz;zhf mikg;gjw;F xt;nthU ,lkjpg;gpYk; 0 
Kjy; 9 tiuapyhd gj;J vz;fis nfhz;L vUthf;f Ntz;Lnkdpy;> xU 
jdpj;Jtkhdj; jpwTf;Nfhy; vz; mikg;gjw;F vj;jid tpjkhd topfs; cs;sJ? 
a. 10,000   b. 1,000   c. 100 
d. 10    e. tpil njupatpy;iy 
 

42. A and B together can do a piece of work in 10 days, but A alone can do it in 15 days. 
How many days would B alone take to do the same work? 
a. 14 days  b. 16 days   c. 26 days 
d. 30 days  e. Answer not known 
xU Ntiyia A-Ak; B-Ak; Nrh;e;J Kbf;f 10 ehl;fs; MfpwJ vd;f. mNj Ntiyia 
A kl;Lk; jdpj;J 15 ehl;fspy; Kbg;ghh; vdpy; B kl;Lk; jdpj;J vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 14 ehl;fs;   b. 16 ehl;fs;   c. 26 ehl;fs; 
d. 30 ehl;fs;   e. tpil njupatpy;iy 
 

43. A and B can do a piece of work in 10 days, B and C in 15 days, C and A in 18 days. In 
how many days. Will they finish it together and separately? 
a. 8 days   b. 9 days   c. 10 days 
d. 11 days   e. Answer not known 
xU Ntiyia A-Ak; B-Ak; Nrh;e;J 10 ehl;fspYk;> B-Ak; C-Ak; Nrh;e;J 15ehl;fspYk; 
C-Ak; A-Ak; Nrh;e;J 18 ehl;fspYk; Kbg;gh; vdpy; %tUk; Nrh;e;J mNj Ntiyia 
vj;jid ehl;fspy; Kbg;gh;? 
a. 8 ehl;fs;   b. 9 ehl;fs;  c. 10 ehl;fs; 
d. 11 ehl;fs;   e. tpil njupatpy;iy 
 

44. Magesh invested Rs. 5,000 at 12% p.a. for one year. If the interest is compounded half 
yearly. Then the amount he gets at the end of the year is 
a. Rs. 5,698   b. Rs. 5,718   c. Rs. 5,608 
d. Rs. 5,618   e. Answer not known 
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kNf~; vd;gtu; Rs. 5>000 I 12% tl;b tPjj;jpy; Xu; Mz;Lf;F KjyPL nra;jhh;. 
miuahz;Lf;nfhU Kiw tl;b fzf;fplg;gl;lhy;> mth; ngWk; njhif 
a. Rs. 5,698   b. Rs. 5,718   c. Rs. 5,608 
d. Rs. 5,618   e. tpil njupatpy;iy 
 
 

45. The time taken for Rs. 4,400 to become Rs. 4, 851 at 10%, compounded half yearly 
a. 6 months   b. 1 year  c. 1½ years 
d. 2 years   e. Answer not known 
10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tbl;bf; fzf;fplg;gl;lhy;> Rs. 4>440 
MdJ Rs. 4>851 Mf vLj;Jf;nfhs;Sk; fhyk; 
a. 6 khjq;fs;  b. 1 Mz;L   c. 1½ Mz;Lfs; 
d. 2 Mz;Lfs;  e. tpil njupatpy;iy 
   

46. If A: B = 5:9 and B:C = 4:7, then A:B:C is 
a. 20 : 36 : 63   b. 63 : 36 : 20   c. 63 : 20 : 36 
d. 36 : 63 : 20   e. Answer not known 
A: B = 5:9 kw;Wk; B:C = 4:7 vdpy; A:B:C vd;gJ 
a. 20 : 36 : 63   b. 63 : 36 : 20   c. 63 : 20 : 36 
d. 36 : 63 : 20   e. tpil njupatpy;iy 
 

47. If the ratio of radii of two spheres is 4 : 7, then the ratio of their volumes is 
a. 16 : 49  b. 64 : 343   c. 4 : 7 

d. 4 : 7   e. Answer not known 
,U Nfhsq;fspy; Muq;fspd; tpfpjk; 4:7 vdpy;> mtw;wpd; fd msTfspd; tpfpjk; 
a. 16 : 49  b. 64 : 343   c. 4 : 7 

d. 4 : 7   e. tpil njupatpy;iy 

 
48. Find the length of the longest rope that can be used to measure exactly the ropes of 

length 1 m 20 cm, 3 m 60 cm and 4 m. 
a. 30 cm  b. 40 cm   c. 120 cm  
d. 360 cm   e. Answer not known 
1 kP 20 nr.kP> 3 kP 60 nr.kP kw;Wk; 4 kP msTfisf; nfhz;l fapWfspd; ePsq;fisr; 
rupahf msf;fg; gad;gLk; fapw;wpd; mjpfgl;r ePsk; vd;d? 
a. 30 nr.kP  b. 40 nr.kP   c. 120 nr.kP  
d. 360 nr.kP  e. tpil njupatpy;iy 

 
49. Find the HCF of 18, 24 and 30 

a. 6  b. 7  c. 8  d. 9  e. Answer not known 
18> 24 kw;Wk; 30 Mfpa vz;fspd; kPg;ngU nghJf; fhuzp fhz;f. 

 a. 6  b. 7  c. 8  d. 9  e. tpil njupatpy;iy 
 
50. Sun gives light and heat energy due to one of the following reactions 

a. Fission of Uranium  b. Fusion of hydrogen and its isotopes 
c. Fusion of carbon, nitrogen d. Disintegration of Plutonium 
e. Answer not known 
fPo;f;fhZk; ve;j xU tpidapd; fhuzkhf #upad; xspiaAk;> ntg;gj;ijAk; jUfpwJ? 
a. ANudpak; mZf;fU gpsT  

b. i`l;u[d; kw;Wk; mjd; INrhNlhg;Gf;fspd; mZf;fU gpizg;G    
c. fhh;gd;> iel;u[d; mZgpizg;G 
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d. GSl;Nlhdpak; rpijTWjyhy;  
e. tpil njupatpy;iy 
 

51. _______ is used to find age estimation in the archaeology. 
a. Co60  b. C14  c. I131  d. Na24  e. Answer not known 
njhy;ypay; Jiwapy; nghUl;fspd; MAis fzf;fpl _____ gad;gLfpwJ. 
a. Co60  b.  C14  c. I131  d. Na24  e. tpil njhpatpy;iy 
 

52. What term is used to describe the cultivation of plants without soil? 
a. Aeroponics   b. Lithoponics  c. Fogponics 
d. Hydroponics   e. Answer not known 
kz;zpy;yhky; jhtuk; gaphpLtjw;Fk; ,e;j nrhy; gad;gLj;JfpwJ 
a. VNuhNghdpf;];    b. ypj;NjhNghdpf;];  c. ghf;Nghdpf;];  
d. i`l;NuhNghdpf;];  e. tpil njhpatpy;iy 
 

53. In a nucleus, protons and neutrons can exist together due to, which of the following 
forces? 
a. Yukawa forces   b. Vander Waals forces c. Coulomb forces 
d. Newton’s forces   e. Answer not known 
fPo;f;fz;ltw;Ws;> ve;j tpirapdhy;> xU mZf;fUtpy;> GNuhl;lhd;fSk; epA+l;uhd;fSk; 
xd;whf ,Uf;f KbfpwJ? 
a. Af;fhth tpirfs;   b. Ntz;lh;thy; tpirfs; c. $Yk; tpirfs; 
d. epA+l;ld; tpirfs;   e. tpil njhpatpy;iy 
 

54. Name the High grade cement which was introduced by the Tamilnadu Cement 
Corporation Limited in the year 2021 
a. Valimai    b. Arasu   c. Annai  
d. Tharam    e. Answer not known 
2021 -y; jkpo;ehL rpnkz;l;]; fofj;jhy; mwpKfg;gLj;jg;gl;l cah;ju uf rpnkz;l;bd; 
ngah; 
a. typik    b. muR    c. md;id   
d. juk;     e. tpil njhpatpy;iy 
 

55. The satellite launched in the first launch mission of ISRO for the year 2022 is 
a. EOS -04    b. EOS -01   c. RISAT-2BRI 
d. Cartosat -3    e. Answer not known 
,e;jpa tpz;ntsp Muha;r;rp epWtdj;jhy; 2022 Mk; Mz;bd; Kjy; VTjy; gzpapy; 
Vtg;gl;l nraw;iff;Nfhs; vJ? 
a. ,Xv];-04    b. ,Xv]; - 01  c. hprhl; -2gpMh;1  
d. fhh;l;Nlhrhl; - 3   e. tpil njhpatpy;iy 
 

56. Arunachal Pradesh became a full fledged State on 
a. 20 February 1987   b. 20 April 1987  c. 23 June 1987  
d. 23 December 1987  e. Answer not known 
________ md;W mUzhr;ryg; gpuNjrk; xU KO khepykhf khwpaJ 
a. 20 gpg;uthp 1987   b. 20 Vg;uy; 1987  c. 23 [{d; 1987  
d. 23 brk;gh;1987   e. tpil njhpatpy;iy 
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57. Which of the following is / are correct about the Public Distribution system? 
1. It is an Indian food security system established under the ministry of consumer 
affairs, and public distribution 
2. It helps in ensuring the Food and Nutritional Security of the Nation  
3. It maintains the buffer stock of food grains in thewarehouse 
a. 1 and 2    b. 2 and 3   c. 1 and 3 
d. 1,2 and 3    e. Answer not known 
nghJ tpepNahf Kiwiag; gw;wp gpd;tUtdtw;wpy; vJ?vit rhpahdJ? 
1. ,J Efh;Nthh; tptfhuq;fs; kw;Wk; nghJ tpepNahf mikr;rfj;jpd; fPo; epWtg;gl;l 
,e;jpa czT ghJfhg;G mikg;G MFk;.  
2. ,J ehl;bd; czT kw;Wk; Cl;lr;rj;J ghJfhg;ig cWjpg;gLj;j cjTfpwJ. 
3. ,J fplq;fpy; ,Ug;G kw;Wk; czT jhdpaq;fis guhkhpf;fpwJ. 
a. 1 kw;Wk; 2    b. 2 kw;Wk; 3   c. 1 kw;Wk; 3   
d. 1>2 kw;Wk; 3   e. tpil njhpatpy;iy 
 

58. One of the following is artificial harbour 
a. Chennai    b. Ennore   c. Vishakhapatnam 
d. Mumbai    e. Answer not known 
fPo;fz;lwtw;Ws; xd;W nraw;ifahd JiwKfk;? 
a. nrd;id    b. vz;Z}h;   c. tprhfg;gl;bdk;  
d. Kk;ig    e. tpil njhpatpy;iy 
 

59. Black cotton soil is also known as 
a. Bhangar    b. Khadar   c. Regur 

d. Kankar    e. Answer not known 
gUj;jp tpisAk; fhpry; kz;zpd; kw;nwhU ngah; ________ vd miof;fg;gLfpd;wJ. 
a. ghq;fhh;    b. fhjh;   c. nu$h;   
d. fhq;fh;    e. tpil njhpatpy;iy 
 

60. During the Mughal period the word ‘banjaras’ refers to  
a. Peasants    b. Traders   c. Soldiers   
d. Teachers    e. Answer not known 
Kfyhah; fhyj;jpy; “ghd;[uh];” vd;w nrhy; Fwpg;gJ 
a. tptrhapfs;    b. tzpfh;fs;   c. giltPuh;fs;   
d. Mrphpah;fs;    e. tpil njhpatpy;iy 
 

61. The most famous state festival of the Vijayanagara empire was  
a. Brahmotsavam  b. Mahanavami  c. Spring (vasant) festival 
d. Ramana Vaidi  e. Answer not known 
tp[a efu Nguurpy; nfhz;lhlg;gLk; Kf;fpa tpoh 
a. gpuk;kNkhl;rtk;  b. kfhetkp   c. tre;jtpoh   
d. ukdhitb   e. tpil njhpatpy;iy 
   

62. The book ‘Dasakumara Charita’ was written by 
a. Amar Singh  b. Kalidasa   c. Dandin 
d. Vatsyayana  e. Answer not known 
‘jrFkhurhpj;jpuk;’ vd;Dk; E}ypd; Mrphpah; 
a. mkurpq;    b. fhspjh]h;   c. jz;bd;   
d. thj;];ahadh;   e. tpil njhpatpy;iy 
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63. Chandra Gupta II was succeeded by whom? 
a. Skanda Gupta   b. Puru Gupta  c. Katothkaja Gupta 
d. Kumara Gupta I   e. Answer not known 
,uz;lhk; re;jpuFg;jUf;F gpd; Ml;rpf;F te;jth; ahh;? 
a. ];fe;j Fg;jh;   b. GU Fg;jh;   c. fNlhj;f[ Fg;jh;  
d. Kjyhk; FkhuFg;jh;  e. tpil njhpatpy;iy 
 

64. When did the New Consumer Protection Act came into force? 
a. 1 April 2019   b. 1 March 2020  c. 1 May 2019 
d. 20th July 2020   e. Answer not known 
Gjpa Efh;Nthh; ghJfhg;G rl;lk; eilKiwf;F te;j Mz;L 
a. Vg;uy; 1> 2019   b. khh;r; 1> 2020  c. Nk 1> 2019   
d. [{iy 20> 2020   e. tpil njhpatpy;iy 
 

65. Which of the following is not involved in the preparation of budget? 
a. Finance Ministry  b. Finance Commission  c. NITI Aayog 
d. Comptroller and Auditor General of India   e. Answer not known 
fPo;fz;ltw;Ws; tuT nryT jpl;l jahhpg;gpy; rk;ge;jg;glhjit vit/vJ? 
a. epjp mikr;rfk;   b. epjp Mizak;  c. epjp mNahf;  
d. jiyikf; fzf;F kw;Wk; jzpf;if mYtyh;  e. tpil njhpatpy;iy 
 

66. Consider the following Statements: 
I. The concept “executive power” is defined in the Constitution 
II. The executive power of the president is co – extensive with that of the legislature 
powers of the Union 
III. The “Executive Power” also includes determination of the Government Policy 
IV. To be elected to the office of the President a person must be registered as a voter in 
Parliamentary Assembly. 
Choose the correct answer: 
a. I and II only   b. II and III only  c. III only 
d. I and IV only   e. Answer not known 
fPo;f;fz;l $w;iwf; fUjTk;. 
I. “nrayhl;rp mjpfhuk;” vd;w fUj;J murpayikg;ghy; tiuaWf;fg;gl;Ls;sJ. 
II. FbauR jiythpd; nrayhl;rp mjpfhuk; kj;jpa ghuhSkd;w mjpfhuj;Jf;F 
,izahd mstpy; nraw;gLj;jg;glf; $bajhFk;. 
III. “nrayhl;rp mjpfhuk;” vd;gJ murhq;f nfhs;ifia jPh;khdpf;Fk; mjpfhuj;ijAk; 
cs;slf;fpajhFk;. 
IV. FbauR jiyth; gjtpf;F Njh;e;njLf;fg;gLtjw;F xUth;> Fwpg;ghdnjhU rl;lkd;w 
njhFjpapy; xUthf;fhsuhf gjpT nra;jpUf;f Ntz;Lk;. 
rhpahd tpilia Njh;e;njL: 
a. I kw;Wk; II kl;Lk;   b. II kw;Wk; III kl;Lk; c. III kl;Lk;  
d. I kw;Wk; IV kl;Lk;  e. tpil njhpatpy;iy 
 

67. The Preamble was amended in 1976 to include the terms _________, _________ and 
___________ .  
a. Socialist, democratic and republic 
b. Secular, socialist and democratic 
c. Socialist, secular and integrity 
d. Integrity, secular and republic 
e. Answer not known 
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1976 – k; Mz;bd; murpay; rhrd jpUj;jy; rl;lk; %yk; KfTiuapy; jpUj;jk; 
nra;ag;gl;L ________> _______ kw;Wk; ______ vd;w nrhw;nwhliu Nrh;f;fg;gl;lJ. 
a. rkjUkk;> kf;fshl;rp> FbauR  b. kjrhh;gpd;ik> rkjh;kk;> kf;fshl;rp 
c. rkjh;kk;> kjrhh;gpd;ik> xUikg;ghL d. xUikg;ghL> kjrhh;gpd;ik> FbauR 
e. tpil njhpatpy;iy 
 

68. The eighth five year plan is ______ type of planning. 
a. Totalitarian   b. Imperative   c. Indicative 
d. Annual    e. Answer not known 
vl;lhtJ Ie;jhz;Lj; jpl;lk; ________  tifahd jpl;lkhFk;.  
a. rh;thjpfhukhdJ   b. fl;lhakhdJ  c. Rl;bf;fhl;LtJ  
d. Mz;LNjhWk;   e. tpil njhpatpy;iy 
 

69. Match the following: 
A. Eighth Finance Commission   1. Dr. Vijay Kelkar 
B. Twelfth Finance Commission   2. Dr. Y.V. Reddy 
C. Thirteenth Finance Commission  3. Y.B. Chavan 
D. Fourteenth Finance Commission  4. Dr. C. Rangarajan 
 A B C D 
a.  3 4 1 2 
b. 1 2 3 4 
c.  2 3 4 1 
d. 4 1 2 3 
e.  Answer not known  
gpd;tUtdtw;iwg; nghUj;Jf. 
A. vl;lhtJ epjpf; FO  1. Dr. tp[a; Nfy;fh; 
B. gd;dpuz;lhtJ epjpf;FO 2. Dr. Y.V. nul;b 
C. gjpd;%d;whtJ epjpf;FO 3. Y.B. rthd; 
D. gjpdhd;fhtJ epjpf;FO  4. Dr. C. Uq;fuh[d; 

A B C D 
a.  3 4 1 2 
b. 1 2 3 4 
c.  2 3 4 1 
d. 4 1 2 3 
e.  Answer not known  
 

70. The main aim of Jan Aushodhi campaign is  
a. Cleaning the rivers and its tributaries 
b. Clean up urban areas 
c. Providing water for every farm 
d. Providing quality medicine at affordable prices 
e. Answer not known 
‘[d; mT~hjp’ jpl;lj;jpd; Kf;jp Nehf;fkhdJ  
a. MWfs; kw;Wk; Jiz MWfisr; Rj;jg;gLj;Jjy; 
b. efug; gFjpfisr; Rj;jg;gLj;Jjy; 
c. xt;nthU gaph; tsh;f;Fk; epyj;jpw;Fk; jz;zPh;  
d. juKs;s kUe;Jfisg; ngwf;$ba tpiyapy; jUtJ 
e. tpil njhpatpy;iy 
 



 

15 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187     http://www.appolosupport.com/ 

 

71. ___________ including the measures of redistributing ownership of holding from the 
point of view of social justice and raising agricultural productivity 
a. Panchayat Raj System  b. Rural Industrialisation   c. Land Reforms 
d. Anti Poverty Programme e. Answer not known 
______ vd;gJ r%f ePjpapd; ghh;itapy; tptrha cw;gj;jpia cah;j;JtJ kw;Wk; 
chpikia kWgfph;T nra;tij cs;slf;fpaJ.  
a. gQ;rhaj; uh[; mikg;G  b. fpuhkg;Gwj; njhopy;  c. epy rPh;j;jpUj;jk; 
d. tWik xopg;G jpl;lk;  e. tpil njhpatpy;iy 
 

72. Find out the correct answer from the following 
i. Sir Syed Ahmed Khan, the founder of Aligarh movement, was initially supportive of 
the congress 
ii. The Punjab Hindu Sabha founded in 1909 laid the foundation for Hindu Communal 
politics 
a. Statement i and ii are correct  b. Statement i correct ii wrong 
c. Statement i wrong ii correct  d. Statement i and ii are wrong 
e. Answer not known 
gpd;tUk; $w;WfspypUe;J rhpahdtw;iwj;; Njh;T nra;f. 
i. mypfhh; ,af;fj;ijj; Njhw;Wtpj;j rh; iraJ mfkJfhd; njhlf;fj;jpy; fhq;fpuir 
Mjhpj;jhh;. 
ii. 1909 ,y; Njhw;Wtpf;fg;gl;l gQ;rhg; ,e;J rigahdJ ,e;Jkj tFg;Gthj 
murpaYf;F mbj;jskpl;lJ 
a. $w;W i kw;Wk; ii rhp  b. $w;W i rhp ii jtW c.$w;W i jtW ii rhp 
d. $w;W i kw;Wk; ii jtW  e. tpil njhpatpy;iy 
 

73. Gandhiji showed the people a new way of fighting against injustice without violence is 
called as 
a. Satya    b. Ahimsa   c. Satyagraha  
d. Gavisti    e. Answer not known 
td;Kiw ,y;yhky; mePjpia vjph;j;Jg; NghuhLk; Gjpa _____ topia fhe;jp 
kf;fSf;Ff; fhl;bdhh;.  
a. rj;ah    b. m`pk;ir   c. rj;jpahfpufk;  
d. fhtp];b    e. tpil njhpatpy;iy 
 

74. Who among the following National Leader resigned from civil service to join  in the 
freedom struggle? 
a. C.R. Das    b. Subash Chandra Bose  c. Motilal Nehru 
d. W.C. Banerjee   e. Answer not known 
gpd;tUk; Njrpa jiyth;fspy; ,e;jpa Rje;jpug; Nghuhl;lj;jpy; fye;J nfhs;tjw;fhf 
jdJ Fbikg;gzpia tpl;L tpyfpath; ahh;?  
a. rp.Mh;.jh];    b. Rgh~; re;jpu Ngh]; c. Nkhjpyhy; NeU  
d. lgps;A+.rp.ghdh;[p   e. tpil njhpatpy;iy 
 

75. Which of the following deals with the study of living people and their material culture? 
a. Ethno Archaeology  b. Historical Archaeology  
c. Economic Archaeology  d. Pre-historic Archaeology 
e. Answer not known 
fPo;tUtdtw;Ws; vJ kf;fspd; tho;itAk;> nghUs; gad;ghl;Lg; gz;ghl;ilAk; Fwpj;J 
tpsf;FfpwJ?  
a. ,dj; njhy;ypay;   b. tuyhw;Wj; njhy;ypay; c. nghUshjhuj; njhy;ypay; 
d. tuyhw;W Ke;ija njhy;ypay; e. tpil njhpatpy;iy 
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76. Ancient Tamil people were involved in _______ occupation next to agriculture. 

a. Weaving     b. Trading   c. Fishing 
d. Hunting    e. Answer not known 
coTj; njhopYf;F mLj;jgbahf goq;fhy jkpoh;fs; ______ njhopypy; <Lgl;bUe;jdh;.  
a. nerT    b. thzpgk;   c. kPd;gpbj;jy;  
d. Ntl;ilahLjy;   e. tpil njhpatpy;iy 
 

77. Which of the following news papers were associated with the justice party 
I. Justice  II. Dravidan  III. Andhra Prakasa  IV. Revolt 
a. I is correct    b. I,II are correct  c. I,II and III are correct 
d. I,II,III and IV are correct  e. Answer not known 
fPo;f;fhZk; ehNsLfspy; ePjpf;fl;rpfSld; njhlh;Gila ehNsLfs; ,it:  
I. [];b];  II. jpuhtpld;  III. Me;jpuh gpufhrh  IV. Gul;rp  
a. I kl;Lk; rhp    b. I, II rhp   c. I,II kw;Wk; III rhp  
d. I,II,III kw;Wk; IV rhp  e. tpil njhpatpy;iy 
 

78. “The passing of the Old 
The ascendance of the new 
Is the unchanging order of time” 
These lines are occurring in which book? 
a. Tholkappiyam   b. Nannul  c. Pura Porul Venba Malai 
d. Nambiyaga Porul   e. Answer not known 
“gioad fopjYk; Gjpad GFjYk; 
tOty fhy tifap dhNd” 
vDk; E}w;gh ,lk;ngWk; E}y; vJ? 
a. njhy;fhg;gpak;   b. ed;D}y;  c. Gwg;nghUs; ntz;ghkhiy 
d. ek;gpafg; nghUs;   e. tpil njhpatpy;iy 
 

79. Who wrote the novel titled “Marappasu”? 
a. T. Janakiraman   b. Rajam Krishnan  c. Ambai 
d. Jeyakanthan   e. Answer not known 
“kug;gR” vd;Dk; Gjpdj;ij vOjpath; ahh;? 
a. jp.[hdfpuhkd;   b. uh[k; fpU~;zd;  c. mk;ig  
d. n[afhe;jd;   e. tpil njhpatpy;iy 
 

80. Which Magazine was run by Bharathiar? 
a. Suthanthira Sangu  b. India   c. Swadeshamithran 
d. Navasakthi   e. Answer not known 
ghujpahh; nrhe;jkhf elj;jpa ,jo; vJ?  
a. Rje;jpur; rq;F   b. ,e;jpah   c. RNjrpkpj;jpud;  
d. etrf;jp    e. tpil njhpatpy;iy 
 

81. “Magalir madaleruthal thamilar marabandru 
vadanatar marabu” 

 Which book says this? 
 a. Thiruneduthandagam  b. Periya thirumadal c. Siriya thirumadal 
 d. Thirupallandu   e. Answer not known 
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kfsph; klNyWjy; jkpoh; kugd;W: mJ  
tlehl;lhh; kungd;W Fwpg;gpLk; E}y; vJ?  
a. jpUneLe;jhz;lfk;   b. nghpa jpUkly;  c. rpwpa jpUkly;  
d. jpUg;gy;yhz;L   e. tpil njhpatpy;iy 

 
82. Which one is the great justice text among all the four? 

a. Neethineri Villakkam  b. Thirukural  c. Naaladiyaar 
d. Aathi soodi   e. Answer not known 
jkpopy; rpwe;j ePjp E}yhf fUjg;gLtJ vJ?  
a. ePjp newp tpsf;fk;   b. jpUf;Fws;   c. ehybahh;  
d. Mj;jp #b    e. tpil njhpatpy;iy 
 

83. Who called Sivakasi as a Little Japan? 
a. Jawaharlal Nehru  b. Gandhiji   c. Kamaraj 
d. Rajaji    e. Answer not known 
rptfhrpia “Fl;b [g;ghd;” vd;W mioj;jth; ahh;? 
a. [t`h;yhy; NeU   b. fhe;jp[p   c. F.fhkuh[;  
d. ,uh[h[p    e. tpil njhpatpy;iy 
 

84. According to All India survey for Higher Education 2019, the State which produced the 
maximum number of in the country in 2018 is 
a. Gujarat    b. Kerala   c. Maharashtra 
d. Tamil Nadu   e. Answer not known 
midj;J ,e;jpa cah; fy;tpf;fhd fzf;nfLg;G 2019 d; gb 2018 Mk; Mz;by; 
mjpfgl;r vz;zpf;ifapyhd gp.vr;.b – fis ( Kidth;fis) cUthf;fpAs;s khepyk;  
a. F[uhj;    b. Nfush   c. kfhuh~;buh  
d. jkpo;ehL    e. tpil njhpatpy;iy 
 

85. Tamil Nadu new integrated textile policy was launched in the year  
a. 2016 b. 2017 c. 2018  d. 2019 e. Answer not known 
jkpo;ehL Gjpa xUq;fpize;j [Tspf; nfhs;if ve;j Mz;by; mwpKfg;gLj;jg;gl;lJ?  
a. 2016  b. 2017  c. 2018  d. 2019  e. tpil njhpatpy;iy 
 

86. Choose the right answer from the following assertion: 
Assertion A :Due to the increase in life expectancy, the number of people over sixty 

has increased substantially in Tamil Nadu. 
Reason R  :The standard of living of the people of Tamil Nadu has increased 

substantially. 
a. A is true but R is false   
b. Both A and R are true and R is the correct explanation of A 
c. Both A and R are true, but R is not the correct explanation of A 
d. A is false, R is true 
e. Answer not known 
gpd;tUtdtw;Ws; rhpahd tpiliaj; Njh;e;njL. 
$w;W A : jkpo;ehl;by; ruhrhp MAl;fhyk; cah;e;Js;sjhy; mWgJ taijf; 

fle;Njhh; fzprkhf cah;e;Js;sdh;. 
fhuzk; R : jkpo; ehl;L kf;fspd; tho;f;ifj; juk; fzprkhf cah;e;Js;sJ.  
a. A rhp> Mdhy; R jtW   
b. A kw;Wk; R rhp. NkYk; A vd;gjw;F R rhpahd tpsf;fkhFk;   
c. A kw;Wk; R ,uz;Lk; rhp. Mdhy; A vd;gjw;F R rhpahd tpsf;fkpy;iy  
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d. A jtW. Mdhy; R rhp   
e. tpil njhpatpy;iy 
 

87. ___________  Article, In the exercise of functions and powers the governor of the State. 
a. Under the Article 192   b. Under the Article 163 
c. Under the Article 110   d. Under the Article 162 
e. Answer not known 
ve;j rl;lg;gphptpd; gb MSeh; khepy eph;thfj;jpd; mjpfhuq;fs; kw;Wk; gzpfspy; 
mjpfhuk; ngw;wtuhf jpfo;fpwhh;  
a. rl;lg;gphpT 192-d; gb  b. rl;lg;gphpT 163-d; gb c. rl;lg;gphpT 110-d; gb 
d. rl;lg;gphpT 162-d; gb  e. tpil njhpatpy;iy 
 

88. If Rs. 1600 is divided among A and B in the ratio 3:5 then, B’s share is  
a. Rs. 200 b. Rs. 480 c. Rs.800 d. Rs. 1000 e. Answer not known 
&. 1600 -I A kw;Wk; B vd;w ,U egh;fSf;F 3:5 vd;w tpfpjj;jpy; gphpj;Jf; nfhLj;jhy; 
B-f;Ff; fpilf;Fk; njhif  
a. &. 200    b. &.480   c. &.800  
d. &. 1000    e. tpil njhpatpy;iy 
 

89. Find the missing number in the series given below: 
2,3,4,9,3,4,5,12,4,5,6,15,2,?7,18 
a. 6  b. 7  c. 8  d. 9  e. Answer not known 
gpd;tUk; vz; njhlhpy; tpLgl;l vz;izf; fhz;f. 
2,3,4,9,3,4,5,12,4,5,6,15,2,?, 7,18 
a. 6  b. 7  c. 8  d. 9  e. tpil njhpatpy;iy 
 

90. Find the next term in the sequence: 
15,17,20,22,25,_______________ 
a. 30  b. 29  c. 27  d. 26  e. Answer not known 
15,17,20,22,25,_______________ vd;w njhlh; thpirapy; mLj;j vz;izf; fhz;f.  
a. 30  b. 29  c. 27  d. 26  e. tpil njhpatpy;iy 
 

91. Kamalam went to play a lucky draw contest. 135 tickets of the lucky draw were sold.  If 
the probability of Kamalam winning is 1/9, then find the number of tickets bought by 
kamalam 
a. 5  b. 10  c. 15  d. 20  e. Answer not known 
fkyk;> FYf;fy; Nghl;bapy; fye;J nfhz;lhs;. mq;F nkhj;jk; 135 rPl;Lfs; 
tpw;fg;gl;ld. fkyk; ntw;wp ngWtjw;fhd tha;g;G 1/9 vdpy;> fkyk; thq;fpa rPl;Lfspd; 
vz;zpf;if ahJ?   
a. 5  b. 10  c. 15  d. 20  e. tpil njhpatpy;iy 
 

92. The probability that it will rain tomorrow is 
91

100
. What is the probability that it will not 

rain tomorrow? 
a. 0.07   b. 0.09  c. 1.03  d. 1.09  e. Answer not known 

ehisa kio nghoptpw;fhd epfo;jfT 
91

100
 vdpy;> kio nghopahky; ,Ug;gjw;fhd 

epfo;jfT vd;d?  
a. 0.07   b. 0.09  c. 1.03  d. 1.09  e. tpil njhpatpy;iy 
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93. Water is flowing at the rate of 15 km/hr through a cylindrical pipe of diameter 14 cm 
into a rectangular tank which is 50 m long and 44 m wide.  In how many hours will the 

water level in the tank raise by 21 cm? (Take =
22

7
) 

a. 1 hour    b. 2 hours   c. 3 hours    
d. 4 hours    e. Answer not known 
14 nr.kP. tpl;lKs;s xU cUis tbtFoha; topNa jz;zPiu kzpf;F 15 fp.kP. 
Ntfj;jpy;> 50 kP ePsKs;s> 44 kP mfyKk; cs;s xU nrt;tf tbtj; njhl;bf;Fs; 
nrYj;jpdhy;> njhl;bapy; 21 nr.kP. cauj;jpw;F jz;zPh; epug;g vj;jid kzp NeukhFk;?  

(Take =
22

7
)  

a. 1 kzp Neuk;   b. 2 kzp Neuk;  c. 3 kzp Neuk;  
d. 4 kzp Neuk;   e. tpil njhpatpy;iy 
 

94. Find the length of the rope by which a cow must be tethered in order that it may be able 
to graze an area of 9856 sq.m. 
a. 56 m    b. 52 m   c. 48 m   
d. 46 m    e. Answer not known 
fapw;why; fl;lg;gl;l khL Nka;e;j gFjpapd; gug;gsT 9856 r.kP. vdpy;> fapw;wpd; ePsk; 
fhz;f.  
a. 56 kP     b. 52 kP    c. 48 kP   
d. 46 kP     e. tpil njhpatpy;iy 
 

95. In how many ears will a principal becomes triple at 8 % per annum? 
a. 20 years    b. 25 years   c. 30 years   
d. 32 years    e. Answer not known 
xU Fwpg;gpl;l mryhdJ 8% tl;b tPjj;jpy; vj;jid Mz;Lfspy; %d;W klq;fhFk;?  
a. 20 Mz;Lfs;   b. 25 Mz;Lfs;  c. 30 Mz;Lfs;  
d. 32 Mz;Lfs;   e. tpil njhpatpy;iy 
 

96. Find the rate of interest at which a principal becomes Rs. 8,800 in 6 years and Rs. 7,920 
in 4 years. 
a. 4%  b. 6%   c. 8%  d. 10%  e. Answer not known 
xU Fwpg;gpl;l mryhdJ 6 Mz;Lfspy; &.8>800 MfTk;> 4 Mz;Lfspy; &.7>920 MfTk; 
khWfpwJ vdpy; tl;b tPjj;ij fhz;f.  
a. 4%  b. 6%   c. 8%  d. 10%  e. tpil njhpatpy;iy 
 

97. 35568 ? % of 650 = 456 
a. 12  b.14  c. 16  d. 18  e. Answer not known 

35568 ? % of 650 = 456 
a. 12  b.14  c. 16  d. 18  e. tpil njhpatpy;iy 
 

98. Find the decimal of 1.25 % is 
a. 0.0125   b. 0.125   c. 0.025 
d. 0.1025   e. Answer not known 
1.25 % vd;gjd; jrk vz; fhz;f.  
a. 0.0125   b. 0.125   c. 0.025 
d. 0.1025   e. tpil njhpatpy;iy 
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99. What is the 4 digit greatest number which is exactly divisible by 15, 18, 20? 
a. 9000   b. 9500   c. 9900   
d. 9990   e. Answer not known 
15> 18>20 My; kPjpapd;wp tFgLk; kpfg;nghpa ehd;F ,yf;f vz; ahJ?  
a. 9000   b. 9500   c. 9900   
d. 9990   e. tpil njhpatpy;iy 
 

100. The LCM of p2 -3p+2, p2-4 is 
a. (p-1) (p2-4)   b. (P+1) (p2-4)  c. (p-1)(p2+4) 
d. (P+1)(p2+4)  e. Answer not known 
p2 -3p+2, p2-4 - ,tw;wpd; kP.ngh>k.  
a. (p-1) (p2-4)   b. (P+1) (p2-4)  c. (p-1)(p2+4) 
d. (P+1)(p2+4)  e. tpil njhpatpy;iy 


